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Variant 1

Part 1

You will hear three short recordings. There are two questions for each of the recordings.
Choose the best option (A, B or C) for each question.
You will hear the audio twice.

You hear someone speaking about zoos.
1 Why does the speaker feel zoos are still needed?
A. Because it's the only way people can see some species.
B. Because there is an ever decreasing amount of habitat suitable for wild animals.
C. Because they are a good way of keeping the public interested in conservation.

2 What advice does the speaker give people visiting zoos?
A. They should avoid disturbing the animals.
B. They should visit endangered species because they may not get be able to do so for long.
C. They should find out how the zoo handles the subject of conservation.

You hear someone speaking about how she responds to the word NO.
3 What is her advice to her listeners?
A. To learn to judge who's on your side.
B. To accept well-meaning advice.
C. To be determined.

4 How does the speaker justify her approach to life?
A. She wants to teach her family something.
B. She is naturally stubborn.
C. She feels she know best.

You hear someone speaking about language.
5 What was the speaker's parents’ objective?
A. To ensure the speaker was fluent in several languages.
B. To ensure the speaker had English as her mother tongue.
C. To ensure the speaker did well in school.

6 How does the speaker feel about her parents’ efforts?
A. The way she handles language is confused.
B. She resents the pressure they put her through.
[bookmark: _GoBack]C. She is grateful for their foresight.

Part 2

You are going to read a passage about one-child policy in China. For questions 7–12, choose the answer (A, B, C, D or E) which you think fits best according to the text. 

A one-child policy was implemented in China in 1979, and for nearly 40 years, until the policy was amended to allow two children in 2015, some Han Chinese families could legally only have one child. This rule was implemented in an attempt to slow continued growth of a population that had almost doubled since 1949. The Chinese government claimed that the policy prevented 400 million births, though some have suggested that the decline may be at least partly due to economic reasons, not legal ones.
One result of the policy seems to be the birth and survival of significantly more boys than girls. One study found that China had 33 million more boys than girls under the age of 20, and it is believed that by 2030, 25 percent of Chinese men in their late 30s will never have been married. Research has shown that an excess of men of marriageable age is linked to higher rates of psychological problems, as it creates a marginalized underclass, and history would suggest such situations may correlate with increased aggression and violence, both inside and outside a country's borders.
Economist Amartya Sen wrote in 1990 of the phenomenon of "missing women" in population data, noting that in China, "the survival prospects of female children clearly have been unfavourably affected by restrictions on the size of the family." In a society that has traditionally strongly favoured sons, it has been suggested that sex-specific pregnancy terminations and infanticide account for the discrepancy in numbers. But others have countered this argument, believing that disease might better explain the phenomenon, either by making women more likely to give birth to male children or by making it more likely that female children will die prenatally or when very young. For at least some of the missing girls, however, a less sinister explanation may prove the correct one: parents who already had a child, or who wanted to be able to have another in an attempt to have a son, simply never registered their daughters with government officials. A recent study found evidence that as many as 25 million girls were not registered at birth, some of them officially “existing” only many years later and others perhaps never officially existing at all.

7 The primary purpose of the passage is to
A. argue that the expected population decline in China due to the one-child policy was due entirely to a decrease in the number of women
B. criticize the accepted explanation for missing girls in China since the implementation of the one-child policy
C. demonstrate how China's one-child policy has influenced past and future birth rates
D. explore the phenomenon of missing girls in China during the years of the one-child policy
E. show why the expected population decline in China due to the one-child policy was not due to a decrease in the number of males

8 In the second paragraph the author mentions a "marginalized underclass" most likely in order to
A. argue that widespread poverty may cause people to value boys more than girls
B. demonstrate that men are inherently more violent than women
C. give an example of why there are more men than women in China
D. illustrate the effect of the one-child policy on average family income
E. show one potential societal risk of the one-child policy

9 According to the passage, which of the following is true of societies in which there are not enough female partners for men of marriageable age?
A. They are more likely to develop when a significant proportion of the population is psychologically damaged.
B. They are not known to have occurred prior to the modern day.
C. They can result in the disappearance of women from official records.
D. They may be at increased risk of international conflict.
E. They occurred historically but are not known to occur in the modern day.

10 According to the passage, each of the following is a possible reason for missing girls in China EXCEPT:
A. Disease may cause more boys to be born than girls.
B. Disease may cause more girls to die prenatally than boys.
C. The one-child policy does not require girls to be registered.
D. Infanticide of female children occurs because families prefer sons.
E. Some girls are not registered so that parents can have another child.

11 Based on information in the passage, which of the following outcomes would have been most likely to occur if a Han Chinese family had a baby daughter prior to 2015?
A. Because a pregnancy is more likely to result in a son than a daughter, the parents have another child.
B. Because disease may kill the daughter, the parents have another child in hopes of having a son.
C. The parents appeal to the authorities to approve an exception to the number of children allowed.
D. The parents are eventually pleased to have had a daughter, because there are so many marriageable men.
E. The parents fail to officially register the daughter, and they have another child.

12 The last paragraph in the passage serves primarily to
A. present multiple potential explanations for a phenomenon described in the second paragraph
B. outline why social attitudes may explain the result of the policy that is the topic of the passage
C. offer a critique of explanations put forward for the outcome of the policy in which the author is primarily interested
D. explain fully the phenomenon described in the second paragraph
E. demonstrate that the least sinister explanation of a troubling phenomenon is the correct one

Part 3

For questions 13-22 read the text below and the decide which word (A, B, C or D) best fits each space.

Aunt Margaret’s kitchen

The kitchen was quite dark because the blinds were drawn. There was a smell of (13)______ cigarette smoke and some unwashed cups were (14)_________ neatly in the sink, but the room was ferociously clean. It was quite a big room. There was a (15) ________ dresser, painted dark brown, loaded with (16)_________ , a flower jar, a bread-bin. There was a larder you could walk into. Melanie experimentally walked into it and (17) ________ the door to herself in a cool smell of cheese and mildew. What did they (18) __________ ? Tins of things: they seemed particularly (19) _________ of tinned peaches, there was a whole pile of tins of peaches. Tinned beans, tinned sardines. Aunt Margaret must buy tins in (20) __________ . There was a number of cake tins and Melanie opened one and found last night’s currant cake. She took a ready-cut (21)________ of it and ate it. It made her feel more at (22)_______ , already, to steal something from the larder. 

13   A musty		B rancid		C ancient		D stale 
14   A stacked		B erected		C ordered		D ranked
15   A built-up		B cornered		C built-in		D walled
16   A crockery	B accessories		C implements		D tools
17   A took		B made		C pulled		D put
18   A consume	B devour		C eat			D use
19   A crazy		B loving		C fond			D likable
20   A bulk		B gross		C mass			D lots
21   A rasher		B slice			C shaving		D remnant
22 A comfort		B place		C rest			D home 

Part 4

For questions 23–30, choose the correct replacement for the underlined part of the sentence. If the sentence is correct, choose the answer that repeats the underlined words.

23 Amtrak, a government-owned corporation, schedules passenger rail service, payments to privately owned firms to run trains, and bears all administrative costs, such as those incurred by the purchase of new equipment and by the sale of tickets.
A. payments to privately owned firms to run trains, and bears all administrative costs, such as
B. pays privately owned firms to run trains, and the bearer of all costs of administration, for example
C. pays privately owned firms to run trains, and is bearing all administrative costs, such as
D. pays privately owned firms to run trains, and bears all administrative costs, such as
E. pays privately owned firms to run trains, and bears all administrative costs, being inclusive of

24 A federal government survey taken in 1997 showed that during the 12 months preceding the survey, 36 percent of the U.S. population had tried marijuana, cocaine, or other illicit drugs, 71 percent of the population were smoking cigarettes, and 82 percent tried alcoholic beverages.
A. were smoking cigarettes, and 82 percent
B. had smoked cigarettes, and 82 percent had
C. smoked cigarettes, and 82 percent had
D. smoked cigarettes, and that 82 percent
E. will be smoking cigarettes, and 82 percent

25 With a height of 7'7" and a wingspan of over 8'6", Manute Bol is often considered one of the most physically imposing players in the history of professional basketball, and he also gave generously of his time and money to help refugees from his native Sudan.
A. Manute Bol is often considered one of the most physically imposing players in the history of professional basketball
B. Manute Bol is often considered in the history of professional basketball the player who was most physically imposing
C. Manute Bol's place in the history of professional basketball is that of one of the most physically imposing players
D. one of the most often considered, physically imposing players in the history of professional basketball was Manute Bol
E. one of the most physically imposing players in the history of professional basketball is often considered Manute Bol


26 Adult pelicans store fish in a deep, expandable pouch below the lower mandible, of which the young feed.
A. of which the young feed
B. being for the feeding of the young
C. from which the young feed
D. that it feeds the young from
E. young feed from

27 In feudal Korea, cattle were traditionally used as beasts of burden, rather than as a food source, and fish were the primary source of protein in the typical diet.
A. cattle were traditionally used as beasts of burden, rather than as a food source, and fish were
B. cattle were being used as beasts of burden, rather than as a food source, and fish were providing
C. cattle were traditionally used as beasts of burden, rather than a food source, and fish being
D. cattle were traditionally used for beasts of burden, rather than for a food source, and fish were
E. the traditional use of cattle was as beasts of burden, rather than for the provision of food, and fish were

28 By examining sets of identical twins in recent studies, mental disorders such as schizophrenia and autism have been found to be the results of variations in gene expression and not simply a matter of genetic inheritance.
A. By examining sets of identical twins in recent studies, mental disorders such as schizophrenia and autism have been found to be
B. By examining sets of identical twins in recent studies, mental disorders such as schizophrenia and autism were found as being
C. Mental disorders such as schizophrenia and autism were examined in sets of identical twins in recent studies and has been found to be
D. Recent studies that examined sets of identical twins has shown that mental disorders such as schizophrenia and autism are
E. Recent studies that examined sets of identical twins have shown that mental disorders such as schizophrenia and autism are

29 Working with musician Stevie Wonder as a musical adviser, Ray Kurzweil developed what is now the preferred medium for creating nearly all music for today’s commercial albums, films, and television: a computer-based instrument capable of reproducing musical sounds of a quality once thought to be possible only on grand pianos and other acoustic instruments.
A. reproducing musical sounds of a quality once thought to be
B. reproducing in musical sounds a quality that was once thought to be
C. reproducing musical sounds with a quality as were once thought to be
D. reproduction of musical sounds at a quality once thought of as
E. reproduction of musical sounds whose quality is the same as what
F. were once thought to be

30 At more than 800 pages in length, the novelist’s life stands revealed in the new biography, which sets the standard for research.
A. novelist’s life stands revealed in the new biography, which sets the standard for research
B. new biography about the novelist sets the standard for research
C. new biography is setting standards of research on the novelist’s life
D. novelist’s life is revealed in a standard-setting new biography
E. standard for research has been set by a new biography on the novelist

